TCrossGrid  Concept
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The screen shot above shows the relation between the datasources and the displayed data.
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The datamodule contains the three data access components (Tquery) in this case. The datasource components are connected to this Queries. The cross grid component has to be connected to these queries. This can be done with the object inspector.

1. 1. Connect <Source_X,Source_Y and Source_Z>.


2. 2. Enter the field names of the key fields for <KeyFields_X,KeyFields_Y and KeyFields_Z>.


3. 3. Enter the field names of the visible fields for <VisibleField_X,VisibleField_Y and VisibleField_Z>.

4. Set <Active> to true. It works only if the three connected datasets are active as well.


Example:

object CrossGrid1: TCrossGrid

    Left = 24

    Top = 88

    Width = 745

    Height = 441

    ColCount = 10

    RowCount = 2

    Options = [goFixedVertLine, goFixedHorzLine, goVertLine, goHorzLine, goRangeSelect, goEditing]

    TabOrder = 0

    Active = False

    CursorColor = clRed

    SelectedCol = 0

    KeyFields_X.Strings = ('PartNo')  <----- this are the key field of the X-Dataset ( can be one or several )

    KeyFields_Y.Strings = ('OrderNo') <----- this are the key field of the Y-Dataset ( can be one or several )

    KeyFields_Z.Strings = ('PartNo'   <----- this are the key fields of the Z-Dataset ( can be one or several )

                           'OrderNo')   (ATTENTION !!! The order is important ! First the key fields of the X- source. )

    Source_X = AppData.PartSource     <------- this datasource is distributing the Part  dataset

    Source_Y = AppData.OrderSource    <------- this datasource is distributing the Order dataset

    Source_Z = AppData.ItemSource     <------- this datasource is distributing the Item  dataset

    VisibleField_X = 'Description'           <--- this data will be displayed in the column header

    VisibleField_Y.Strings = ('CustNo'       <--- this data will be the displayed in the first 3 columns

                              'Company'

                              'ShipDate')

    VisibleField_Z = 'Qty'                   <--- this data (Quantity) will will be displayed in the grid.

  end

Data from Source_X (Parts )





Data from Source Y (Orders )





Data from Source Z (Items )








